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FACTOR

1. If product of two prime numbers A and B (A < B)
is 221, then what is the value of (4A – 3B)?

;fn nks vHkkT; la[;kvksa A vkSj B (A < B) dk xq.kuiQy
221 gS] rks (4A – 3B) dk eku D;k gS\

(a) – 1 (b) 2

(c) 1 (d) – 2

2. a and b are two positive integers such that the
least prime factor of a is 3 and least prime
factor of b is 5. The least prime factor of a + b
is.

a vkSj b nks ldkjkRed iw.kkZad bl izdkj gSA fd a dk
lcls NksVk xq.ku[k.M 3 gSA vkSj b dk lcls NksVk xq.ku[k.M
5 gSA rks a + b dk lcls xq.ku[k.M D;k gSA

(a) 2 (b) 3

(c) 5 (d) 8

3. Find the number of factors in 720

720 esa xq.ku[k.Mksa dh la[;k Kkr dhft,

(a) 25 (b) 30

(c) 35 (d) 40

4. Find the number of factor in 23. 34. 56

23- 34- 56 esa xq.ku•.Mksa dh la[;k Kkr dhft,

(a) 120 (b) 125

(c) 130 (d) 140

5. Find the number of prime factors in 305 × 245

305 × 245 esa vHkkT; xq.ku•.Mksa dh la[;k Kkr dhft,

(a) 30 (b) 35

(c) 40 (d) 38

6. Find the number of even factor 2³ 34 56

2³ 34 56 le xq.ku•.Mksa dh la[;k Kkr dhft,

(a) 105 (b) 104

(c) 110 (d) 115

7. Find the number of even factor in 34 78

34 78 esa le xq.ku•.Mksa dh la[;k Kkr dhft,

(a) 45 (b) 32

(c) 10 (d) 0

8. How many factors of N = 25. 38. 56 are perfect
squares?

N = 25. 38. 56 ds fdrus xq.ku[k.M iw.kZ oxZ gSa\

(a) 50 (b) 60

(c) 70 (d) 80

9. How many factors of N = 25. 38. 56 are perfect
cubes?

N = 25. 38. 56 ds fdrus xq.ku[k.M iw.kZ ?ku gSa\

(a) 16 (b) 17

(c) 18 (d) 19

10. Find the sum of the factor of 720.

720 ds xq.ku•.Mksa dk ;ksx Kkr dhft,A

(a) 2018 (b) 2418

(c) 2618 (d) 2518

11. Find the sum of factor of 2³. 3². 51

2³. 3². 51 ds xq.ku•.Mksa dk ;ksx Kkr dhft,A

(a) 1170 (b) 1070

(c) 950 (d) 1150

12. Find the sum of even factors of 2³. 32. 51

2³. 32. 51  ds le xq.ku•.Mksa dk ;ksx Kkr dhft,A

(a) 1080 (b) 1092

(c) 1093 (d) 1090

13. Find the sum of even factor in 35 × 56

35 × 56 esa le xq.ku•.Mksa dk ;ksx Kkr dhft,

(a) 512 (b) 509

(c) 0 (d) 505

14. Find the sum of odd factors 24. 33. 51

24. 33. 51 esa fo"ke xq.ku•.Mksa dk ;ksx Kkr dhft,

(a) 120 (b) 240

(c) 360 (d) 480

15. Find the product of all factor of 200.

200 ds lHkh xq.ku•aMksa dk xq.kuiQy Kkr dhft,A

(a) 2006 (b) 20000

(c) 104 (d) 105

FACTOR/xq.ku[kaM
( Practice Sheet With Solution)
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FACTOR

16. Find the number of odd factors of  2³. 34. 57.

2³. 34. 57  esa fo"ke&xq.ku[k.Mksa dh la[;k Kkr dhft,A

(a) 40 (b) 42

(c) 45 (d) 50

17. Find the sum of all even factors of 25. 3². 51.

25. 3². 51  esa le&xq.ku[k.Mksa dk ;ksxiQy Kkr dhft,A

(a) 4536 (b) 4836

(c) 4260 (d) 4160

18. Find the sum of all odd factors of 28. 31. 53

28. 31. 53 esa fo"ke&xq.ku[k.Mksa dk ;ksxiQy Kkr dhft,A
(a) 624 (b) 660

(c) 690 (d) 700

19. Find the number of prime factors of

237. 353. 510

237. 353. 510  esa vHkkT; xq.ku[k.Mksa dh la[;k Kkr dhft,A

(a) 95 (b) 96

(c) 99 (d) 100

20. Find how many factors of X are there which
are multiple of 20.

X = 25. 32. 53

X = 25. 32. 53 esa X ds fdrus xq.ku[k.M gSa tks 20 ds
xq.kt gSa\

(a) 26 (b) 30

(c) 36 (d) 40

Answer Key

1.(c) 2.(a) 3.(b) 4.(d) 5.(b) 6.(a) 7.(d) 8.(b) 9.(c) 10.(b)

11.(a) 12.(b) 13.(c) 14.(b) 15.(a) 16.(a) 17.(b) 18.(a) 19.(d) 20.(c)
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SOLUTIONS
1. (c)

Given,

A × B = 221

17

(B)

13

(A)

4A – 3B = 4 × 13 – 3 × 17

         = 52 – 51 = 1

2. (a)

Given, Least factor of (a) = 3

and least factor of (b) = 5

So, a + b = 8  Least factor of 8 = 2

3. (b)

720 = 24 × 5 × 3²

    = 24 × 32 × 51

No. of factors = (4 + 1) × (2 + 1) × (1 + 1)

        = 5 × 3 × 2

        = 30

4. (d)

2³ × 34 × 56

No. of factors = (3 + 1) (4 + 1) (6 + 1)

        = 4 × 5 × 7 = 140

5. (b)

305 × 245

(30 × 24)5 = 220 × 310 × 55

No. of prime factors = 20 + 10 + 65 = 35

6. (a)

2³ × 34 × 56

Total No. of factors = (3 + 1) × (4 + 1) (6 + 1)

      = 4 × 5 × 7

      = 140

No. of odd factors = (4 + 1) × (6 + 1) = 35

No. of even factors = 140 – 35 = 105

'OR'

For No. of even factors = 2 × [2² × 34 × 56]

(2 + 1) × (4 + 1) × (6 + 1) = 105

7. (d)

34 × 78

Here No. of 2 = 0

So, No. of even factor = 0

8. (b)

N = 25 × 38 × 56

2 × 24 × (3²)4 × (5²)³

2 × [4² × 94 × 25³]

No. of perfect square factors

= (2 + 1) × (4 + 1) × (3 + 1)

= 3 × 5 × 4

= 60

9. (c)

N = 25 × 38 × 56

= 2² × 2³ × (3³)² × (5³)²

= 4 × [81 × 27² × 125²]

No. of perfect cube factors

= (2 + 1) × (2 + 1) (2 + 1)

= 2 × 3 × 3 = 18

10. (b)

720 = 24 × 3² × 51

Sum = (20 + 21 + 2² + 2³ × 24) × (30 + 31 + 3²) ×
(50 + 51)

= 31 × 13 × 6

= 186 × 13 = 2418

11. (a)

2³ × 3² × 51

Sum of factors

= (20 + 21 + 2² + 2³) × (30 + 31 + 3²) × (50 + 51)

= 15 × 13 × 6

= 15 × 78

= 1170

12. (b)

2³ × 3² × 51

21 × [2² × 3² × 51]

Sum of even factor

= 2 × (20 + 21 + 2²) × (30 + 31 + 3²) × (50 + 51)

= 2 × 7 × 13 × 6 = 1092

13. (c)

35 × 56

Here No. of 2 = 0

So. No. of even factor = 0.

So sum of even factor = 0
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14. (b)

24 × 3³ × 51

Sum of odd factor

= (30 + 31 + 3² + 3³) × (50 + 51)

= 40 × 6

= 240

15. (a)

N = 200 = 2³ × 5²

No. of factors = (3 + 1) × (2 + 1) = 12

Product of factors = (N)12/2 = 2006

16. (a)

2³ × 34 × 57

No. of odd factors = ( 4 + 1) × (7 + 1)

   = 5 × 8

   = 40

17. (b)

25 × 3² × 51 = 2 [24 × 3² × 51]

Sum of even factors

= 2 (20 + 21 + 2² + 2³ + 24) × (30 + 31 + 3²) × (50 + 51)

= 2 (31 × 13 × 6)

= 372 × 13 = 4836

18. (a)

28 × 31 × 5³

Sum of odd factors

= (30 + 31) × (50 + 51 + 5² + 5³)

= 4 × 156

= 624

19. (d)

237 × 353 × 510

No. of prime factors = (37 + 53 + 10) = 100

20. (c)

25 × 3² × 5³

2² × 5 [2³ × 3² × 5²]

No. of factors which are multiple of 20

= (3 + 1) (2 + 1) (2 + 1) = 36
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